
SAP ABAP table PSHLP_TREX_ACTY_USERFIELDS_ST {PSHLP:User fields of Activity}

PSHLP_TREX_ACTY_USERFIELDS_ST

MANDT [CLNT (3)]

APLZL [NUMC (8)]

SLWID [CHAR (7)]

USE04 [UNIT (3)]

USE05 [UNIT (3)]

USE06 [CUKY (5)]

USE07 [CUKY (5)]

VNAME [CHAR (6)]

RECID [CHAR (2)]

ETYPE [CHAR (3)]

JV_JIBCL [CHAR (3)]

JV_JIBSA [CHAR (5)]

SPARAMETER1 [CHAR (4)]

SPARAMETER2 [CHAR (4)]

SPARAMETER3 [CHAR (4)]

FERC_IND [CHAR (4)]

AFVC

MANDT [CLNT (3)]

AUFPL [NUMC (10)]

APLZL [NUMC (8)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-APLZL = AFVC-APLZL 

1

1

FERC_C7

MANDT [CLNT (3)]

IND [CHAR (4)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-FERC_IND = FERC_C7-IND 

0..N

0..N

T000

MANDT [CLNT (3)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-USE04 = T006-MSEHI 

0..N

0..N

 PSHLP_TREX_ACTY_USERFIELDS_ST-USE05 = T006-MSEHI 0..N

0..N

T8J6A

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-JV_JIBCL = T8J6A-CLASS 
0..N

0..N

T8J6C

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

SUBCLASS [CHAR (5)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-JV_JIBSA = T8J6C-SUBCLASS 0..N

1

T8JG

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

ETYPE [CHAR (3)]

FDATE [NUMC (8)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-ETYPE = T8JG-ETYPE 
0..N

0..N

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-RECID = T8JJ-RECID 

0..N

0..N

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-VNAME = T8JV-VNAME 

0..N

0..N

TCN00

MANDT [CLNT (3)]

SLWID [CHAR (7)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-SLWID = TCN00-SLWID 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-USE06 = TCURC-WAERS 

0..N

0..N

 PSHLP_TREX_ACTY_USERFIELDS_ST-USE07 = TCURC-WAERS 

0..N

0..N

TSCHEDULEPARAM1

MANDT [CLNT (3)]

SPARAMETER [CHAR (4)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-SPARAMETER1 = TSCHEDULEPARAM1-SPARAMETER 

0..N

0..N

TSCHEDULEPARAM2

MANDT [CLNT (3)]

SPARAMETER [CHAR (4)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-SPARAMETER2 = TSCHEDULEPARAM2-SPARAMETER 

0..N

0..N

TSCHEDULEPARAM3

MANDT [CLNT (3)]

SPARAMETER [CHAR (4)]

 PSHLP_TREX_ACTY_USERFIELDS_ST-SPARAMETER3 = TSCHEDULEPARAM3-SPARAMETER 

0..N

0..N


